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QUESTION 1

2024 Latest geekcert 120-071 PDF and VCE dumps Download

The INVOICE table has a QTY_SOLD column of data type NUMBER and an INVOICE_DATE column of data type

DATE NLS_DATE_FORMAT is set to DD-MON-RR.

Which two are true about data type conversions involving these columns in query expressions?
A. invoice_date> \\'01-02-2019\\": uses implicit conversion

B. qty_sold =\\'05549821 \\': requires explicit conversion

C. CONCAT(qty_sold, invoice_date): requires explicit conversion

D. gty_sold BETWEEN W101\\' AND \W'110\: uses implicit conversion

E. invoice_date = \\'15-march-2019\\": uses implicit conversion

Correct Answer: DE

QUESTION 2

Examine this statement:

SELECT 1 AS id, 'John' AS first name, NULL AS
FEOM DUAL

INTERSECT

SELECT 1, 'John', NULL
FEOM DUAL

ORDER BY 3;

What is returned upon execution?
A. 2 rows

B. O rows

C. An error

D. 1 ROW

Correct Answer: D

QUESTION 3

Examine this statement:
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CREATE TABLE amployees

{emp_id WUMBER (5) PRIMARY KEY,

ename VARCHARZ (15),

email VARCHRRZ (40) UNIQUE,

address LOHG,

resume LONG,

dept id HUMBER { 3) COMSTRAINT emp dept id £k REFERENCES departments (dept_id),

CONSTRAINT ename_nn NOT NULL
)iz

Which two things must be changed for it to execute successfully? (Choose two.)

A. The foreign key constraint on DEPT_ID must be defined at the table level instead of the column level.
B. The NOT NULL constraint on ENAME must be defined at the column level instead of the table level.

C. The primary key constraint on EMP_ID must have a name.

D. One of the LONG columns must be changed to a VARCHAR2 or CLOB.

E. The word CONSTRAINT in the foreign key constraint on DEPT_ID must be changed to FOREIGN KEY.

Correct Answer: BD

QUESTION 4

Which two statements are true about transactions in the Oracle Database server?

A. An uncommitted transaction commits automatically if the user exits SQL*Plus

B. Data Manipulation Language (DML) statements always start a new transaction.

C. A user can always see uncommitted updates made by the same user in a different session.

D. A Data Definition Language (DDL) statement does a commit automatically only for the data dictionary updates
caused by the DDL

E. A session can always see uncommitted updates made by itself.

F. If a session has an uncommitted transaction, then a DDL statement issue a COMMIT before starting a new
transaction.

Correct Answer: AE

QUESTION 5
Which two are true about queries using set operators such as UNION? (Choose two.)
A. An expression in the first SELECT list must have a column alias for the expression.

B. CHAR columns of different lengths used with a set operator return a VARCHAR2 whose length equals the longest
char value.

C. Queries using set operators do not perform implicit conversion across data type groups (e.g. character, numeric).
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D. In a query containing multiple set operators, INTERSECT always takes precedence over UNION and UNION ALL.

E. All set operators are valid on columns of all data types.

Correct Answer: BC
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